| NV ATUa1— (ERON

| TORQUE SCREWS  No.E-9962

SUM22 BRY

c
B E
D
5| Q
z
?
\A e
M
7
it
)
Ll s A GiEES * (EETEER
#—5—No. No. AGE) @ B . C D E E @ Efﬁf\%hi%ﬁ;‘”i EEg | {8
% 938553 | TRS06040 | M 6X1 40 60 3 20 45 25 4 800 70 |19,900
% 938554 | TRS06060 | M 6X1 60 80 3 20 45 25 4 800 75 | 19,900
% 938555 | TRS08040 |M 8x1.25 40 60 3 20 6 25 4 650 80 | 20,800
% 938556 | TRS08060 |[M 8x1.25 60 80 3 20 6 25 4 650 85 | 20,800
% 938557 | TRS08080 |M 8x1.25 80 100 3 20 6 25 4 650 90 | 20,800
% 938558 | TRS10040 |M10X1.5 40 60 @ 3 20 78 25 4 | 550 90 | 23,400
% 938559 | TRS10060 |M10X1.5 60 80 3 20 78 25 4 550 98 | 23,400
% 938560 | TRS10080 |[M10x1.5 = 80 100 3 20 78 25 4 550 106 | 23,400
%938561 | TRS12040 |M12x1.75 40 60 3 20 94 25 4 450 105 | 24,600
% 938562 | TRS12060 |M12X1.75 60 80 3 20 94 25 4 450 115 | 24,600
% 938563 | TRS12080 |M12x1.75 80 100 3 20 94 25 4 450 125 | 24,600
% 938564 | TRS12100 |M12X1.75 100 = 120 3 20 94 @ 25 4 450 135 | 24,600
NEER
R RIU~
-_-r‘
2SI $EK

SINCE 1560

NABEYA co,uo. CADF—995v0O—F « EHEREE Web ¥/ hT ! [ AT \ ﬁ* 797

2023.7.21




